PreAP Two Dimensional Motion Test Review

1. Graphically add these vectors. (You will need graph paper.)
A=48 at 60° B=32at 170°% C=44at 155° D =155 at 100°
Graph: A+2B —2C -D

2. A person walks 15 m south, then 35 m west. Find their total displacement.

3. A person has these individual displacements: horizontal: 12,520 m; vertical —8,335 m. Find their total displacement.

4. Vector or scalar?

A.  Number of cards on a table F.  Acceleration of a car
B.  Mass G. __ Steps you take in a race
C. _ Money in a bank account H. _ Displacement

D. _ Velocity of an ocean current I. _ Distance travelled

E. ~ Forceonacar J._ Pressure

5. A stunt plane takes off from an airport flying 125 m/s at an angle of 20° from the ground. The plane tries to drop a bag of
money into a get away car following below them on the runway. At the same time a helicopter is filming the action, rising up
vertically at the same rate as the plane. What is the velocity of the helicopter and car?

Vwalkway: 1.5 m/s
—
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Vspiffy =

2.5 m/s
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¥

6. Spiffy the Armadillo gets lost and ends up in an abandoned part of an airport. Spiffy can walk 2.5 m/s
and tries to cross a walk way that is moving 1.5 m/s to the left.

A. How long does it take for him to get across?

B. How far down the walkway does he get off?

C. What is his total displacement?

D. What is his total velocity while on the walkway?

E. Which way would he have to walk to get straight across?



@9 9 12. Find how far away both balls land.

7. Greatest acceleration when it leaves the table? . . L
8. Lands first? 13. What kind of projectile motion is this?
9. Lands farther away? 14. Give at least three other examples.

10. Greatest initial velocity?

11. Greatest initial y-direction velocity?

T 4 m/ 15. Which has 10 m/s 16. Greatest initial velocity? 19. Greatest max height?
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T 4 mfs
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Vy =5 m/s 22. A projectile’s x and y velocities are given.
A. What is its initial velocity?

B. What its range?
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23. Use the graphic above to answer the following.
A. What is the acceleration at 4? E. What is the x velocity at 6?
B. What is the total velocity at 4? F. Whatis a, at 67
C. What is the y velocity at 4? G. Whatis ayat 1?
D. How would you find the speed at 5? H. Where is the speed greater: at 2 or 7?
I. IfVi=20m/s and 6 = 50°, find the final x velocity.

24. That plucky Phil is not done, yet! He builds his own catapult by bending a coconut tree.
He launches himself going 24 m/s at an angle of 38°. He wants to launch himself over the hunter’s
fence of the hunter. What is the height of the fence, if he just grazes the top?

25. When Phil crosses over the fence he ends up landing on the ground at the same velocity and angle.
He lands on a ground level trampoline, just as he planned. He worked it out to end up in the bedroom
of the hunter. The house is 8 m away from the trampoline. How high up is the window of the bedroom?
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5. A stunt plane takes off from an airport flying 125 m/s at an angle of 20° from the ground. The plane tries to drop a bag of
money into a get away car following below them on the runway. At the same time a helicopter is filming the action, rising up
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6. Spifty the Armadillo gets lost and ends up in an abandoned part of an airport. Spiffy can walk 2.5 m/s
and tries to cross a walk way that is moving 1.5 m/s to the left.
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24. That plucky Phil is not done, yet! He builds his own catapult by bending a coconut tree.
He launches himself going 24 m/s at an angle of 38°. He wants to launch himself over the hunter’s
fence of the hunter. What is the height of the fence, if he just grazes the top?
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25. When Phil crosses over the fence he ends up landing on the ground at the same velocity and angle.
He lands on a ground level trampoline, just as he planned. He worked it out to end up in the bedroom
of the hunter. The house is 8 m away from the trameoline. How high up is the window of the bedroom?
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